[image: image1.png]



1. Which molecule resembles the shape of a twisted ladder?

a. DNA

b. Sugar

c. RNA
d. Lipid

2. Which are the CORRECT bases that are present in a double-stranded DNA molecule?
a. guanine, cytosine, uracil and thymine 
b. guanine, adenine, cytosine and uracil
c. thymine, adenine deoxyribose and cytosine
d. adenine, thymine, guanine and cytosine
3. Nucleotides are made of all of the following EXCEPT:

a. fatty acids


b. 5-C sugar


c. phosphate


d. nitrogenous base

4. DNA is an example of which type of macromolecule?

     a. nucleic acids

     b. lipids

     c. carbohydrates

     d. protein
5. A molecule of DNA is a polymer composed of
     a. glucose
    b. amino acids 
    c. fatty acids 
    d. nucleotides 
6. Which nitrogenous bases make up RNA nucleotides?
a. adenine, thymine, guanine, and cytosine 
b. adenine, uracil, guanine and cytosine 
c. adenine, thymine, uracil, and cytosine 
d. adenine, thymine, guanine, and uracil 

7. DNA is important in organisms because it is
a. the main building block that makes up the structure of organisms

b. one of the few polymers in organisms
c. only present in small amounts

d. the genetic code for life
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8. Which sequence would form the complementary strand of the above DNA molecule?

a. CCTGAT

b. ACTGGC

c. GTAGGC

d. TCAGGG

9. After DNA replication, the following DNA strands are present:

a. two completely DIFFERENT molecules

b. one molecule that is the template and ONE new  molecule

c. two IDENTICAL molecules of DNA 

d. two TEMPLATE strands

10. The process of DNA replication is necessary before a cell:
a) makes a protein

b) codes for RNA molecules

c) divides into two cells

d) modifies lysosome enzymes

11. The replication of the double-stranded DNA molecule begins when the strands separate at the

a. phosphate bonds

b. ribose molecules

c. deoxyribose molecules

d. hydrogen bonds

12. What unwinds and unzips a DNA molecule?

a. enzymes

b. nucleus

c. mRNA

d. amino acids 

13. The “unzipped” DNA molecule serves as a _________ for building the new DNA molecule.
a. enzyme

b. nucleus

c. mRNA
d. template

14. When new DNA is synthesized, what are free nucleotides made up of?
a. deoxyribose, a phosphate and a nitrogenous base

b. ribose, a phosphate and a nitrogenous base
c. fatty acids
d. amino acids
15. Which of these is most responsible for carrying coded information from the nucleus?

a) The cell membrane
b) The ribosomes
c) mRNA 

d) rRNA
16. When is the DNA code copied to messenger RNA (mRNA)?
a. translation
b. transcription 
c. replication 
d. hydrolysis 

17. The original template for the process of protein synthesis is: 
    a. DNA 
    b. Messenger RNA
    c. Transfer RNA
    d. Ribosomal RNA

18. The organelle on which protein synthesis take place is the 
    a. golgi body
    b. nucleus
    c. ribosome
    d. mitochondria
19.  Which molecule is responsible for translating the recipe to make the proteins?

    a. DNA
    b. mRNA
    c. tRNA
    d. rRNA
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20. Using the above chart, the mRNA strand AAGCUACUA would code for which of the following amino acid sequences?
    a. Lysine, leucine, leucine
    b. Arginine, serine, serine
    c. Leucine, lysine, leucine
    d. Serine, praline, alanine
21.  A codon is found on _________ and is _________ nucleotides long.

a. DNA; 4

b. DNA; 3

c. mRNA; 4

d. mRNA; 3
22. Which of the following is a type of mutation?

a. point
b. deletion

c. frame shift
d. all of the above 
23. In humans, a gene mutation

results from a change in the: 

a. sequence of the nitrogenous bases in DNA
b. sequence of fatty acids
c. sequence of monosaccharides
d. sequence of the sugars and phosphates in DNA

24. A mutation in a gene causes a domino effect of change in an organism. In which order do the changes occur?
a. gene ( protein ( amino acid sequence

b. protein ( gene ( amino acid sequence

c. gene ( amino acid sequence ( protein

d. protein ( amino acid sequence ( gene

             25. Which of the following processes makes many copies of specific genes?



a. gene sequencing


        
b. PCR


                              c. gel electrophoresis


                             d. recombinant DNA 
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                26. What type of mutation has occurred above?
a. substitution

b. frameshift

c. duplication

d. insertion
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27. What type of Chromosomal mutation is illustrated by the figure above?

	a.
	Duplication
	c.
	Translocation

	b.
	Deletion
	d.
	Inversion


28. Transferring normal human genes into human cells that lack them

a. will cause antibodies to kill those cells.               

b. is impossible at this time.

c. is called human gene therapy.                              

d. will cause cancer.
29. Why could a change in the amino acid sequence cause a change in a protein function?

a. The type of amino acid affects the pH of the protein.
b. Without enough monosaccharides, the protein would not be long enough.

c. A change in amino acid could cause a change in shape of the protein.

d. Amino acid sequence has nothing to do with protein function.

30. According to Figure 13-6, which are the parents of the child?
	a.
	A
	c.
	C

	b.
	B
	d.
	D


Molecular Genetics PRACTICE Test


Directions:  Read the questions below and choose the correct letter, JUSTIFY each answer with a BRIEF explanation.











